H & 0l & AFSH E Al M
SN BT
HH: SARYRAS(SYHSLM/5Y - 55)

ool SRSy G-
SA B S(S) - HRAY - BES of &t o3 o HBS2
B 7,944, 194 7,126,720 817,474

2 250,968 253,766 £2,798
| 464,777 509,002 £44,315
= 613,356 559,957 53,399
Al 6,615,003 5,803,905 811,188
EMB YY) 7,877,814 7,060,340 817,474
2 250,968 253,766 £2,798
| 464,777 509,002 £44,315
= 613,356 559,957 53,399
Al 6,548,713 5,737,525 811,188
sess 1,251,320 951,320 300,000
| 15,000 15,000 0
= 65,510 65,510 0
Al 1,170,810 870,810 300,000
D53 ALER I4 U 300,000 0 300,000
402 Q12201 300,000 0 300,000
03 RIS L AFRIHI 300,000 0 300,000
O D5 YAE2 TLMNY 300,000 0 300,000
SN J|HRS 3,318,559 2,753,081 565,528
2 3,480 3,480 0
| 268,602 333,789 Nd5, 187
< 268,456 192,222 76,234
Al 2,758,021 2,223,540 534,481
BN N2 508,000 338,000 170,000
301 LHEHZ 20,000 0 20,000
14 JIEL2 A3 20,000 0 20,000

O BAAMI X2
40,000, 0002 1A 50% 20,000 0 20,000
402 QIR 2 01 483,000 338,000 150,000
03 BI2FSIEL AL 483,000 333,000 150,000

O BLEUS N
976,000, 00021+ A1 #50% 488,000 338,000 150,000
HM= grmolol o A N () 200,000 0 200,000
< 100,000 0 100,000
Al 100,000 0 100,000
307 QI2H0IA 200,000 0 200,000
= 100,000 0 100,000
Al 100,000 0 100,000
04 DIZFHAIAFRI B 200,000 0 200,000
O ®= =00 & #AH X 200,000 0 200,000
= 100,000 0 100,000
Al 100,000 0 100,000
M= or=olol o A X 50,000 0 50,000




2A:

X XH -
o =

SMB VAU (sHN LM/ 5 - sF)
R FAEE J|g= EERSE)
SA - B GA(B) - RAY - BaS Ol 4 0| & o H DS
307 212+01™ 50,000 0 50,000
04 QIZFSHALAIE B & 50,000 0 50,000
O &= 302 & A XIE 50,000 0 50,000
HFIYE gL 15,000 6.000 9,000
402 QI2HAH=01H 15,000 6.000 9,000
03 QI2H2EF AR 15,000 6,000 9,000
O 2& 7l XIZA
600, 000 & *505+50% 15,000 6,000 9,000
TAZHA TR (Z1D) 447,016 591,714 A 144,698
pJ 171,427 216,614 N45,187
< 69,838 93,604 123,766
Al 205,751 281,496 NT5,745
301 LEENS 388,116 521,024 £ 132,908
) 147,715 186,352 138,637
< 59,682 82,400 N22,718
Al 180,719 252,272 AT1,553
14 J|Et2 &= 388,116 521,024 A 132,908
O =AME Al XM=l X2 297,074 463,982 166,908
) 99,025 154,662 55,637
< 49,512 77,330 ~27,818
Al 148,537 231,990 183,453
E|HH| X (HSEHXI)
200,000 *170ha 34,000 0 34,000
) 17,000 0 17,000
< 5,100 0 5,100
Al 11,900 0 11,900
402 QI2HIH= 01 58,900 70,690 A11,790
) 23,712 30,262 26,550
< 10,156 11,204 A 1,048
Al 25,032 29,224 AN4,192
03 QIZtREAISHI 58,900 70,690 A11,790
O ZAEHL STl X (H2EX) 9,000 20,790 A11,790
Jl 5,000 11,550 26,550
< 800 1,848 21,048
Al 3,200 7,392 4,192
AE P 2 THOHESHX] SHCH A 997,506 826,380 171,126
301 LBEES 171,126 0 171,126
14 JIEt2 &= 171,126 0 171,126
O ZAtE A2lXl MZ=Hl XA
63,3802 +3,000E +90% 171,126 0 171,126
SAAL 2 WK 47,600 47,500 100
301 LetEdS 11,600 11,500 100
11 #ALAHIXI R Z 8,000 11,500 23,500




2A:

M SMFYyHL}(sHH LM/ - sE)
o FAEA JgRS EERSE)
A - 33 - SA(3) - HRAY - BES Ofl &F 24 38 A Hunsz
O JEFLB U= It 04| 0 3,500 3,500
1402 4= 3,600 0 3,600
O H&BdU= 235 A
600,000 65 3,600 0 3,600
IMNE FEH FHl XA 80,000 0 80,000
402 21t Xt=01A 80,000 0 80,000
01 QA TH= A EER (XA ) 80,000 0 80,000
O ZAtg M &l N&
200,000,000 * 141 %40% 80,000 0 80,000
SHEM =4 X2 20,000 0 20,000
402 It XH=01A 20,000 0 20,000
01 RIZEAFEAIS 2 (KHAHITHE ) 20,000 0 20,000
O =A=MY 54 X
40,000,000 * 141 %50% 20,000 0 20,000
M= K2 10,000 0 10,000
302 OIFH Mo 2 &= 10,000 0 10,000
02 IO S FES 2= 10,000 0 10,000
O 272 Ao 24 10,000 0 10,000
SR =) 1,272,050 1,237,050 35,000
2l 80,000 80,000 0
= 73,750 73,750 0
Al 1,118,300 1,083,300 35,000
A 23 e 146,300 126,300 20,000
402 QIZIXtE0IN 146,300 126,300 20,000
03 22+ AAEAIZHI 146,300 126,300 20,000
O FA=ZNEXEH
292,600,000 *141%50% 146,300 126,300 20,000
A s =EHe 15,000 0 15,000
402 LIt XH=01A 15,000 0 15,000
01 BIZEAFEAIL 2R (KHHITHE ) 15,000 0 15,000
O A=t =222 A&
150, 0002 +200Z *50% 15,000 0 15,000
=LY 2,035,885 2,118,939 83,054
= 247,488 250,286 N2,798
2l 81,175 80,303 872
< 205,640 228,475 N22,835
Al 1,501,582 1,559,875 58,293
tsgd(=1) 234,447 266, 169 N31,722
= 120,579 135,935 A 15,356
< 27,672 30,678 3,006
Al 86,196 99,556 13,360
101 24 84,000 80,720 3,280
= 42,000 40,360 1,640




S FoH

M SMHYAUSH(sHH S/ =5 - 5F)

e L CEREED
SN SA(SH) - MRAY - BES 0l &k o4 o H o HImE=rT]

[ 12,600 12,108 492
Al 29,400 28,252 1,148
04 JI2tNI22 RS2 84,000 80,720 3,280
O SHxx 29 o™ 84,000 80,720 3,280
= 42,000 40,360 1,640
[ 12,600 12,108 492
Al 29,400 28,252 1,148
206 M= 69,249 81,216 A11,967
= 46,380 54,586 18,206
< 4,575 5,326 AT51
Al 18,294 21,304 /3,010
01 =4l 69,249 81,216 A11,967
O olg==AH 21,204 30,487 N9,283
= 12,663 18,959 16,296
< 1,709 2,306 NB97
Al 6,832 9,222 ~2,390
O xEx=2 285 388 £ 103
= 285 388 £ 103
O J14s7H 47,760 50,341 A2,581
= 33,432 35,239 21,807
< 2,866 3,020 A154
Al 11,462 12,082 2620
301 LEENS 55,948 67,553 A 11,605
= 19,574 22,649 23,075
< 7,972 9,576 A1,604
Al 28,402 35,328 26,926
14 JIEI2 &= 55,948 67,553 A 11,605
O E=4etHgd X 42,000 55,637 13,637
= 12,600 16,691 24,091
< 5,880 7,789 1,909
Al 23,520 31,157 AT,637
O =FJ[USTAUI AlIZ THHHl XA 2,032 0 2,032
= 1,016 0 1,016
< 305 0 305
Al 711 0 711
402 QI2HAH= 01 25,250 36,680 A11,430
= 12,625 18,340 25,715
< 2,525 3,668 21,143
Al 10,100 14,672 N4,572
02 QI XHE AL E R (01 A THE) 25,250 36,680 A 11,430
O HAE=)| SSgH AH 22,400 32,000 29,600
= 11,200 16,000 24,800
[ 2,240 3,200 2960

~




S FoH
M SMHYAUSH(sHH S/ =5 - 5F)
e L CEREED
SN SA(SH) - MRAY - BES 0l &k o4 o H o HImE=rT]
Al 8,960 12,800 23,840
O M2 AI(PCV-2) XI & 2,850 4,680 21,830
= 1,425 2,340 2915
< 285 468 A 183
Al 1,140 1,872 NT32
TR g A (=F2) 133,291 137,371 4,080
= 75,781 75,781 0
< 14,388 15,918 A1,530
Al 43,122 45,672 22,550
206 M= H] 60,571 50,371 10,200
= 42,421 35,281 7,140
< 3,630 3,018 612
Al 14,520 12,072 2,448
01 HZH| 60,571 50,371 10,200
O FHg L5 60,500 50,300 10,200
= 42,350 35,210 7,140
[ 3,630 3,018 612
Al 14,520 12,072 2,448
301 LBEES 72,720 87,000 14,280
= 33,360 40,500 AT,140
[ 10,758 12,900 N2,142
Al 28,602 33,600 24,998
14 J1Et 243 72,720 87,000 N 14,280
O M olgeal 85 Al=tl 57,720 72,000 N 14,280
= 28,860 36,000 AT,140
< 8,658 10,800 N2,142
Al 20,202 25,200 /4,998
oAl g N (=1) 25,115 0 25,115
= 12,558 0 12,558
< 3,767 0 3,767
Al 8,790 0 8,790
301 LetEdS 25,115 0 25,115
= 12,558 0 12,558
< 3,767 0 3,767
Al 8,790 0 8,790
14 JIEt2 &= 25,115 0 25,115
O ghlAZl #al 5 Al=tl 25,115 0 25,115
= 12,558 0 12,558
< 3,767 0 3,767
Al 8,790 0 8,790
SSLHY 2EXA(2D) 162,350 160,606 1,744
) 81,175 80,303 872
< 16,235 16,061 174




S SAt
HI: SMAMAUSH(SHASA/S5Y - 55)
e L CEREED
A - FE - AA(SA) - HIRASY - BHES (1] Falge J 3 A Hns2
Al 64,940 64,242 698
402 QI2tXt=0| A 162,350 160,606 1,744
bl 81,175 80,303 872
[ 16,235 16,061 174
Al 64,940 64,242 698
03 QI+ EFAFSHI 162,350 160,606 1,744
O SSYHCT 212l 89,670 87,486 2,184
7l 44,835 43,743 1,002
(= 8,967 8,749 218
Al 35,868 34,994 874
O SSYHT 29 M 72,680 73,120 A440
7l 36,340 36,560 A220
< 7,268 7,312 N4
Al 29,072 29,248 A176
HE SH et SAAE 2R (Z) 177,250 262,990 85,740
[ 53,175 78,897 N25,722
Al 124,075 184,003 60,018
101 1A 145,750 261,490 A115,740
[ 43,725 78,447 N34,722
Al 102,025 183,043 A81,018
04 DIt 22 RS2 % 145,750 261,490 A115,740
O HEASAE L SHEA 2o 145,750 261,490 A115,740
(= 43,725 78,447 N34,722
Al 102,025 183,043 A81,018
201 LEr2 Y| 30,000 0 30,000
[ 9,000 0 9,000
Al 21,000 0 21,000
01 Ar22t2] Y| 15,000 0 15,000
O HEASAIE L SHEL 2922 15,000 0 15,000
[ 4,500 0 4,500
Al 10,500 0 10,500
02 22294 15,000 0 15,000
O HEASAE L SHEA 2922 15,000 0 15,000
(= 4,500 0 4,500
Al 10,500 0 10,500
ISy 9o 2X2 (%) 20,707 19,851 856
[ 6,212 5,955 257
Al 14,495 13,896 599
101 124 20,707 19,851 856
[= 6,212 5,955 257
Al 14,495 13,896 599
04 JI2HH22 XS+ 20,707 19,851 856
O JIEdgY g2 XA 20,707 19,851 856




S FoH
M SMHYAUSH(sHH S/ =5 - 5F)
e L CEREED
SN SA(SH) - MRAY - BES 0l &k o4 o H o HImE=rT]
[ 6,212 5,955 257
Al 14,495 13,896 599
= A NS XE (%) 14,400 36,000 221,600
< 4,320 10,800 /6,480
Al 10,080 25,200 ~ 15,120
301 LEENS 14,400 36,000 ~21,600
< 4,320 10,800 16,480
Al 10,080 25,200 ~ 15,120
14 J1et2432 14,400 36,000 ~21,600
O IJt=a 2| 14,400 36,000 ~21,600
(= 4,320 10,800 26,480
Al 10,080 25,200 A 15,120
X Ot=ASYE A2 AE W NE (%) 7,500 0 7,500
< 2,250 0 2,250
Al 5,250 0 5,250
301 LBEES 7,500 0 7,500
< 2,250 0 2,250
Al 5,250 0 5,250
14 JIEt2 &= 7,500 0 7,500
O HiXl JIEXEY AAME AlE WHHH X 7,500 0 7,500
< 2,250 0 2,250
Al 5,250 0 5,250
ZE AMFESIH HASAH NJ(E) 14,000 47,000 33,000
[ 4,200 14,100 29,900
Al 9,800 32,900 ~23,100
206 M= 14,000 47,000 33,000
< 4,200 14,100 9,900
Al 9,800 32,900 A23,100
01 HEHl 14,000 47,000 33,000
O =€ HASLAN A
10,0002 *1,400H 14,000 47,000 33,000
< 4,200 14,100 29,900
Al 9,800 32,900 ~23,100
& s 28 2l XNE(&E) 3,560 2,315 1,245
[ 1,068 695 373
Al 2,492 1,620 872
206 M =4 3,560 2,315 1,245
< 1,068 695 373
Al 2,492 1,620 872
01 HEHl 3,560 2,315 1,245
O S0HN A1 ol AEIE
21,0002 *60H 1,260 1,050 210
< 378 315 63




SAM: S4k
HH: SAAWAS (SN 5Y - 5&)
e L CEREED
A - FE - AA(SA) - HIRASY - BHES (1] Falge J 3 A Hns2
Al 882 735 147
O SO0HX EAHE ollgt HAS2H
11,5002 «2007H 2,300 1,265 1,035
(= 690 380 310
Al 1,610 885 725
2 2Y HlgAAH 2S(E) 3,100 6,000 A2,900
[ 930 1,800 A870
Al 2,170 4,200 ~2,030
206 M 2H] 3,100 6,000 2,900
[= 930 1,800 A870
Al 2,170 4,200 A2,030
01 JHZ Y 3,100 6,000 A2,900
S 2E2Y YAl I
1024%310,00074 3,100 6,000 A2,900
(= 930 1,800 A870
Al 2,170 4,200 A2,030
SoE gy XA(T) 1,000 2,000 1,000
[ 300 600 A300
Al 700 1,400 AT700
206 24l 1,000 0 1,000
[ 300 0 300
Al 700 0 700
01 HZ Y 1,000 0 1,000
O YXMAD|ISEIIESSZ HAl 1,000 0 1,000
(= 300 0 300
Al 700 0 700
402 QI XH=0| A 0 2,000 2,000
(= 0 600 AB00
Al 0 1,400 A1,400
02 QIZITHEAIAE R (0| A THS) 0 2,000 A2,000
O YXMAD|ISEIIESSZ Al 0 2,000 A2,000
[ 0 600 AB00
Al 0 1,400 A 1,400
SAsIF 9 HAX HACCPOIS XIR(E) 7,000 0 7,000
(= 2,100 0 2,100
Al 4,900 0 4,900
402 QIIXtE0| A 7,000 0 7,000
(= 2,100 0 2,100
Al 4,900 0 4,900
02 QIZIXHE AL E R (0| A THS) 7,000 0 7,000
O 5,000,000 *2IH 2 %70% 10, 000, 000! *70% 7,000 0 7,000
[ 2,100 0 2,100
Al 4,900 0 4,900




2A:
K zH
o9l

e
=AU (SY N YL/ 5
p/ETISEpY

SA B SA(BH) - RN - BLS of &t o] & o DS
RIls2 Eszel(E) 40,000 15,000 25,000
= 12,000 4,500 7,500
Al 28,000 10,500 17,500
301 Let2d= 40,000 15,000 25,000
T 12,000 4,500 7,500
Al 28,000 10,500 17,500
14 JIet24 = 40,000 15,000 25,000
O Fls= 252 K&
200,000& *2000t2| 40,000 15,000 25,000
= 12,000 4,500 7,500
Al 28,000 10,500 17,500
FIISE AMA YA Xel N2 (=) 1,250 2,500 A1,250
= 375 750 A375
Al 875 1,750 A875
201 2= 1,250 2,500 A1,250
T 375 750 A375
Al 875 1,750 A875
01 AbR 22l 1,250 2,500 A1,250
O FIIS= At /IS Xl
5,0002 x250kg 1,250 2,500 A1,250
= 375 750 A375
Al 875 1,750 A875
S 2522 Bxd NJ(&) 41,485 20,707 20,778
= 12,439 6,212 6,227
Al 29,046 14,495 14,551
101 1A 41,485 20,707 20,778
T 12,439 6,212 6,227
Al 29,046 14,495 14,551
04 JI2HKI2Z2 NS 2+ 41,485 20,707 20,778
O =2 2522 23 X2
20,742,500 x2H 41,485 20,707 20,778
= 12,439 6,212 6,227
Al 29,046 14,495 14,551
sIls8 SAESH X3 (2) 15,000 0 15,000
== 4,500 0 4,500
Al 10,500 0 10,500
301 LENS 15,000 0 15,000
T 4,500 0 4,500
Al 10,500 0 10,500
14 JIEt24 =S 15,000 0 15,000
O RIlIs= SAESH T
30,0003 *502* 105 15,000 0 15,000
= 4,500 4,500
Al 10,500 10,500




A H4D

HE: EAABAYS(SPHL L/ S - &)
SE R ST
SN FH - S(3) - ARAY - BN 0l &k ol E o
YAT ABE AXol BrEsE IRyl NR(F) 0 6,000
= 0 1,800
Al 0 4,200
301 LUEHT 0 6,000
= 0 1,800
Al 0 4,200
140IE2 42 0 6,000
O MR ot sr2is2 FEY| N 0 6,000
= 0 1,800
Al 0 4,200

_‘]O_



